KOKLU SAYILAR

SORU 4.1

a:1+J§_

1 1
ise —+— isleminin sonucunu bulunuz.
b=1-42 a b

cOzUM 4.1
11 1 1 1-J2+1+42 2 2
a b 1+v2 1-v2 +V2f1-v2) 1_(J2f 1-2

=—2 bulunur.

SORU 4.2

5\/@—4\/1+§ +7\/1—% isleminin sonucunu bulunuz.

cOzUM 4.2

5v99 —4\/1+E + 7\/1—i = 5\/9.11—4‘/1—1 + 7‘/E = 15+v11 —ﬂ\/11 +Z\/11:
9 16 9 16 3 4
=11 15—ﬂ+Z = @\/11
3 4 12

SORU 4.3

¥/3x—2 =4 denkleminde x kactir?

cOzUM 4.3

33x—-2=4=3x-2=4°=3x—2=64=3x=66 = x =22 bulunur.

SORU 4.4

\/%_\/E-h/@ isleminin sonucu kagtir ?
J72 '

cOzUM 4.4

V2524924162 5J2-3J2+442 642
J36.2 - 642 62

=1 bulunur.



SORU 4.5

5\/(—2)5 +3.‘{/(—3)4 —5.7\/(—4)7 isleminin sonucu kagtir ?

cOzUM 4.5

(2F +34/(-3)* —53/(-4) =—2+3|-3—5(—4)=—2+3.3-5(-4)=—2+9+20=27

bulunur.



